Repetition of Eratosthenes’ experiment
Locality: Abet Greek School in Cairo, Egypt

Latitude: ¢=30° 6'

Longitude: A= 31" 20'

Date: 21-6-2011 (Summer solstice)

Time of the Sun’s culmination in Cairo: 11:56:45 (UTC +2:00)
Height of the Sun measured with the astrolabe: 83° 30’
®=6"30" % 20"

Aswan;.

Latitude: = 24° 05'

Longitude: A= 32° 54'

Distance between Cairo and Aswan along a meridian circle= 665 km (Google Earth)
If we had used the distance between Cairo and Aswan, the circumference of the Earth
would be 360° x 665 / 6,5° = 36.831 km

e=23° 26'
Distance between Cairo and the Tropic of Cancer = 736 km (Google Earth)
Circumference of the Earth: 360° x 736 / 6,5° = 40.763 km

Emoavéinyn g puétpnong tov Epatocivn
TonoBeoia: Auméteiog Zyoin Kaipov

l'soypaed Tridtoc: o= 30° 6'

I'ewypaeucd pnirog: A=31° 20

Huepounvia: 21-6-2011 (@egpvd nAoctdc1o)

Qpa Arydmtov mov pecovpavei o Hitog oto Kapo: 11:56:45 (UTC +2:00)
"Yyog HAhov katd ) pesovpdvnon HeTpnuévo pe aotpordfo: 83° 30!
®=6"30" £ 20"

Acovav

l'eoypapikd TAdtog: = 24° 05'

I'ewypaeucd pnrog: A= 32° 54'

Amdotaon Kaipov - Acovdv katd pikog evog peonufpivov = 665 km (Google Earth)

Andotaon Kaipov — Tpomikod Kapkivov = 736 km
[Meprpépeta g yng = 360° x 736 / 6,5° = 40.763 km



